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Question 1 to 30 choose the best answer for each question

Maximum Marks : 100

Time : 60 Minutes

and put a tick () in the box against your choice.

1. 60 tens is

7 hundreds.

a) greather than
b) less than
c) equal to

d) none of these

318

a) 348

328 338

b) 339

What comes next in the following sequence?

(1)

c) 337 d) 340

Anu Pinky@ Lalli.  Madhu

Who is holding a card with an even number on it?

(a) Madhu (b) Lalli

(c) Pinky (d) Anu

e) none of these

Study the diagram below.
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What are the missing numbers ?

(A)a=18,b=12 (B)a=12,b=18

(C)a=17,b=14 (D)a=14,b=17

e) none of these

()



There ar 63 days in

weeks?

a)9

c)5

e) none of these

Find the missing number

16{20){24)28) 2 [36)40)

a) 30 b) 32

c) 34 d) 38

e) none of these

A baby needs food and to stay alive.
a) toys b) water

c) clothes d) choclates

Which of these is an important function of the roots of a

plant?

a) To absorb oxygen front the atmosphere
b) To absorb carbon dioxide from the atmosphere

¢) to absorb water and minerals from the soil

(3)

10.

11.

12.

d) To transport food from roots

e) none of these

Small plants with weak stems are called herbs. Which of

these is a herb?

a) Basil

¢) Gulmohar

e) None of these

b) Apple

d) Grapevine

We get food from plants and animals. Which of these is

obtained from animals?

a) Pulses

) Sugar

e) None of these

b) Groundnuts

d) Cheese

Zebras, elephants and deer live in large groups. Such a

group is called a:

a) pack

c) herd

b) team

d) none of these

Which of these is NOT a terrestrial animal?

a) Cheetah

b) Whale

4)



13.

14.

15.

c) Zebra

e) none of these

d) Deer

16.

The Sunflower turns towards the sun in the morning this

shows that a Sunflower can:

a) grow

b) reproduce

c) respond to changes
d) take in air and water

e) none of these

17.

After spending Rs. 260, Harsha had Rs. 300 left. How

much did he have at first?

a) Rs. 300

¢) Rs. 40

e) none of these

Find the missing series?

55, 45, 35,

b) Rs. 560

d) Rs. 260

18.

19.

(5)

e) none of these

The odd number that comes just before 97 is

e) none of these

Which number has the greatest value in the hundred’s

place?
a) 294 b) 682
c) 971 d) 816

e) none of these

Seventy nine can be written as :

a) 7+9 b) 7+90

c) 70+90 d) 70+9

e) none of these

The greatest even number formed by the digits 3,2and 1

using only once is :

a) 321 b) 312

c) 213 d) 132

e) none of these

(6)



20.

21.

23.

24.

14 is more than 10 but

Q) 4, 14

e) None of these

b) 4, 10

d) 24, 28

less than 24.

“T am more than 2 + 4 but less than 10 —2. What number

amI”?
a)6
c) 8

e) None of these

570 + 430 = how many tens ?

a) 100
Q) 57

e) None of these

4x5=10x

a)0
c)2

e) None of these

Living things can only be :

a) artificial

b) man-made

7)

25.

26.

27.

28.

c) natural

e) none of these

d) all of these

Which of these animals does NOT lay eggs?

a) Fish
c) Hen

e) None of these

a) Snakes
c) Rat

e) None of these

b) Frog

d) Rat

b) Rabbit

d) Earthworm

Which of the following pairs is/are correct?

a) Silk—Worm

c) Leather—Crocodile

e) None of these

A

a) chick
c) caterpillar

e) none of these

b) Wool—Sheep

d) All of these

grows to become a butterfly:

b) kitten

d) puppy

live in holes dug by other animals:

®)



29. Which of these helps plants to grow better?

a) Leather b) Manure

c) Fiber d) None of these

30. Aswe grow, we become

a) smaller b) lighter
c) taller d) None of these
31. Colour the Picture 8

N.B. : 2 marks for neatness.
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